Spelling Test

In words of Greek origin, ch says /k/ as in chrome.

Choose the correct spelling of the word to complete the statements.

1.

An was attached to the ship.

a) Ankor b) anchkor ¢) anchor

. John ate too many sweets so he had a ache.

a) Stomache b) stomach c¢) stomack

. When we shouted in the cave there was an

a) ecko b) echoe ¢) echo

. After the teacher left the class, there was total

a) Chaos b) khaos c) caos

. The book had four different

a) Karacters b) characaters c¢) characters

6. My sister studies at the University of St. Martin.

a) Psychology b) psyckoology ¢) psychology



7. Burning wood is an example of change.

a) chemikal b) chemical ¢) kemical

8. My father builds houses, he is an

a) arckitect b) archetect ¢) architect
9. The radio announcer said that they had some difficulties.
a) technical b) teknical ¢) technical
10. is the process by which water vapor in the air is

changed into liquid.

a) Condenshation b) condenseation ¢) condensation



